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2 WE, Ebo B o@E) 1 2 150 135
3 FARHE R A BHEREEL .2 5 7.5 40 23 28 51
4 WEE Ty 78I — 4 10 20 17 12 29
5 B TS T = 52 2 5 20 19 8 27
6 TAXA AT 5 1 4 30 40 20 60
7 RIS R EIT— 3 6 20 11 7 18
8 TR SR & 4 12 30 21 16 37
9 CrAESpSSEiNGE! 4 10 12 0 10 10 10
10 2 A EFEL Y 4 10 12 1 11 12 12
11 i [EREREE1.2.3.4.5 50 100 75 14 35 49 44
12 | TEELHWT 7 VT —ar | ORHEFEE 2015 15 30 15 8 9 17 14
13 |WERAENLOMADOFEL| 10 20 40 18 29 A7 41
14 EiE1.2.3.4 20 40 48 6 21 27 23
15 | Yy—mylf—hA OHFHIZES 10 20 15 4 11 15 9
16 HARCIHOARE 5 10 20 18 6 24 19
17 | REBAEMO N THALT AN 4R | 5 10 15 8 0 8 6
18 YERE DT 5 10 15 6 6 12 5
19 AVASYE - 5 10 20 14 3 17 16
20 IT T ERADORLE 2 5 10 20 21 8 29 24
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26 WOBEWETETEET 5 10 15 14 8 22 14
27 S ER A B 2 R 6 30 20 24 2 26 21
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